## Simplify the following

$$
\begin{aligned}
& \text { 1) } \frac{1}{4}(5-e)+\frac{1}{3}(4-2 e)= \\
& \text { 2) } \frac{1}{5}(2 a+3)-\frac{1}{6}(a-1)= \\
& \text { 3) } \frac{1}{7}(d-12)-\frac{1}{8}(d-6)=
\end{aligned}
$$

4) $\frac{1}{2}(3 f-4)+\frac{1}{3}(5 f+6)=$
5) $\frac{1}{12}(2 g+5)-\frac{1}{6}(3 g+7)=$
6) $\frac{1}{16}(4 h+5)+\frac{1}{8}(7 h+4)=$

$$
\text { 7) } \frac{1}{15}(2 i+10)-\frac{1}{30}(3 i+4)=
$$

$$
\begin{aligned}
& \text { 8) } \frac{1}{7}(3 k-7)-\frac{1}{3}(5 k+9)= \\
& \text { 9) } \frac{1}{4}(5 p+8)+\frac{1}{6}(4 p-7)= \\
& \text { 10) } \frac{1}{8}(9 s-8)-\frac{1}{9}(5 s+4)=
\end{aligned}
$$

